INTERMEDIATE EXAMINATION-2025
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I.Com.
A T 110043048 =138 oo s
Total Questions : 100+30+8 = 138 Subject code: | 217
(I : 3 €< 15 fAQ) (gt :100)
[Time : 3 Hours 15 Minutes] [Full Marks:100]

Instructions for the candidates:

1. Vel OMR % G3& G 397 F97 gawl HH1E (10 H] F1) $a99
ferdd /
Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the
OMR Answer Sheet.

2. gErrRfl FrTaT S gl H & 9V &
Candidates are required to give answers in their own words as far as
practicable.

3. Il 3V EIRMY uv 7% §V 3% quiia [Afde @vd &
Figures in the right hand margin indicate full marks.

4. FE Bl JITqAR GG P 177 GUETRAT B 15 [FTC BT JIARTT THT 1397
T8

15 minutes of extra time have been allotted for the candidates to read the
questions carefully.

5. I8 77 gaar & @vs] H [qHIfoid & — TUs—3] Va Gre—g |
This Question booklet is divided into two sections-Section-A and Section-B.
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6. GUS—31 H 100 TeGI1G HoT & [or7d ¥ $IT 50 HeI BT & TV G771 71
g/ T 50 T 7 3fe/F T IV I7 UV HIH 50 HE BT & Tl &I/
T&F F97 & 77 1 3 [FEIRT &/ 3767 el Iav &l Ul BV TY
OMR STv—93F 7 133 73 wel A%y &I Hiet /Fict §icT 97 & TTIE B/
o] 4t gY@ FIgTTY, AV garRl,/ &S,/ TR 31d & OMR Sv—9F%
JINT BYT T 8 3RIT GIET GRITT SET=T 81T/

In SECTION-A, there are 100 objective type questions, out of which only 50
questions are to be answered. If more than 50 questions are answered, then
only first 50 questions will be evaluated. Each question carries one mark. For
answering darken the circle with blue/black ball pen against the correct option
on the OMR Answer Sheet provided to you. Do not use whitener/liquid/blade
nail etc. on OMR Answer sheet /otherwise the result will be treated invalid.

7. GUS—F H 30 T TV FIT &/ [or7H W gedd H 2 S [EINT & o7
o [ 16 FeE BT SV &7 ST &1 §7% SaRFT 37 @S H 8 e
STIT T o7 T 8, for7H A 78] 4 79 T GV & 8/ TAB HIT B
fory 5 3w [AERT &

In section B, there are 30 sheet answer type questions, each question carries
2 marks, out of which any 15 questions are to be answered. Apart from this,
there are 8 long answer type questions, out of which any 4 questions are to be
answered. Each question carries 5 marks.

8. [ GHIY & FATClTH FUBYT BT FIIT QUTIT Tfoid &/

Use of any electronic appliances is strictly prohibited.
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gus — J/SECTION-A
JEIfTS 9T / Objective Type Questions

To7 G&IT 1 & 100 TF & F57 & @ TV @%ey 189 79 & for79 & v wel
&/ 13781 50 7% & BT GV Y7 GV g7 T @el [dbey # OMR  #e g%
farad &9/ 50x1 =250

Questions Nos. 1 to 100 have four options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the OMR-
Sheet. 50x1 =250

1. 79y & fhd wR 87
(A) 3 B) 4
€ 5 (D) 6
How many levels of management are?
A) 3 (B) 4

©) 5 (D) 6

2. UG BT AHINTS STRGIIE 28—
(A) TS B Hf (B) wHaIRAT & wfd
(C) WRPIR & gfd (D) o & ufa
The Social responsibility of management is :-
(A) Towards Society (B) Towards employee
(C) Towards government (D)  Towards all
3. Ud BT AR B
(A) Y (B) oA
(C) frgfaa=or (D) ¥ & wf

The essence of management is:
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(A) Co-ordination (B) Organisation

(C)  Staffing (D)  All of these
4. qHY T—

(A) s (B) 3MazI®

(C) IFEaTD (D) I DI q9ia]

Co-ordination is
(A) Voluntary (B) Necessary

(C) Unnecessary (D) Wastage of time

5. e & e g—
(A) Tfeefie (B) <
(C) e (D) =T |

Principle of management are

(A) Dynamic (B)  Flexible
(C) Universal (D) All of these
6. IS T & fOar g
(A) TR (B) frare
(C) fremsiyr (D) I

The father of scientific management is
(A) Taylor (B) Kimbal
(C) Gilbreth (D) Fayol

7. AED Y P TR AT
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(A) 1913 (B) 1832
(C) 1903 (D) 1920
When scientific management was introduced?

(A) 1913 (B) 1832
(C) 1903 (D) 1920

o

8. JsNf~rh U= ¥ JcureT Bidl gi—

(A)  Sfferee (B) =i

(C) M (D) TTH & TS el

The production in scientific management is

(A) Maximum (B) ~ Minimum

(C) Normal (D) None of these
9. T BATA ¥ W B o Rigia gard &2

(A) 5 (B) 14

©) 16 (D) 20

How many principles of management has been given by Henry Fayol?

(A) 5 (B) 14
©) 16 (D) 20

10. 9= Yee @rar &
(A)  amiiTe gRdadH (B) anfdfe uRad+
(C) #RI® uRacH (D)  3irenfire aRadd

The scientific management brings
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(A) Social change (B) Economic change

(C) Mental change (D) Industrial change
11. Fr=falad 5 9 319 41 ol ararerer § aiHAe 87
(A) i yorel (B) anfdfe “hfordt
(C) enfdm gemd (D)  SWRad Tt

Which of the following is included in the Economic Environment?
(A)  Economic system (B) Economic policies
(C)  Economic conditions (D) All the above

12.faeeh ycaer foaer W o ufodel & Sl <91 A9 IrdTeaNeT &

forq ST &1 uTa 87

(A) e araraRer (B) RIoHfd® ardrarvl

(C) M™IRSTH aTaTaRo] (D) dunfes R araTaRer

Which component of business environment resulted in the relaxation of

ban imposed on the Foreign Direct investment?

(A) Economic Environment (B)  Political Environment

(C)  Social Environment (D) Legal Regulatory Environment
137 e N B s o &

(A) SERIHR (B) dIqraRoT

(C) frsiia=or (D) 7 & w4

Main components of New Economic Policy are:

(A) Liberalisation (B) Globalisation
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(C) Privatisation (D) All of these

14,7949 anfefe T ®a AT gg of?

(A) SIS 1991 (B) elTlg 1990
(C) el 1992 (D) S8 2001
New Economic Policy was declared in-

(A) July 1991 (B) July 1990
(C)  July 1992 (D) July 2001

15.f=feRad & | BI9—<a1 RIS &7 U ded 81 27

(A) fr (B) ®rUmH

(C) Sz (D) fFrgfacen=or
Which of the following is not an element of Planning?

(A) Rules (B) Programme
(C) Objectives (D) Staffing

16.f5e @1 e = § 9 fed W dfgd siar 27
(A) doIc (B) ST
(C) ®risHH (D) ¥

On which focus of Planning is centred?

(A) Budget (B)  Objectives

(C) Programme (D) Rules
17.f0s= va ufsear 8-

(A) 3mafa® (B) frR=R
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(C) rhiRe® (D) it
Planning is a process:

(A) Periodic (B) Continuous
(C) Casual (D) Annual

18.fare Y wegar fohamett &1 g —
(A)  IR™q (B) 3id
(C) U™ T 3fd aHl (D) TTH ¥ DI A8l

Of all managerial activities planning is the:

(A) Beginning (B) End

(C) Beginning and End both (D) None of these
19.U% 38! Jrorm Bl o—

(A) EElel (B) 9 oIF dTefl

(C) <EER (D) ®oR

A good plan is

(A) Expensive (B) Time Consuming

(C) Flexible (D) Rigid

20,7775 fhAT & TROT -
(A) 2 B) 4
(C) 6 (D) 8
The steps of the organisation process are:-

(A) 2 (B) 4
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©) 6 (D) 8

21.f5) SUshH H GG D1 WATYAT BT 2

(A)  STdH veg (B) #euH gdu

(C) = udeq (D) <dTeId AvSd
In an enterprises organisation is established by
(A) Top Management (B) Middle Management

(C) Lower Management (D) Board of Directors

22 ST B ATTIHAT Hal alil 52
(A) e GReel H (B)IR—amesTiiies Gverafl
(B) (A) 3R (B) =i ¥ (C) el =t
Where is organisation needed

(A) In business organisation (B) In non-business organisation

(C) In both (A) and (B) (D)  No where

23,19 T TS ST JAaTD 87
(A) 3fElR® (B) sFmER®
(C) (AR (B) g1 (D) T A PIS T

Which organisation structure is necessary?

(A) Formal (B) Informal

(C) Both(A)and (B) (D) None of these
24.9RYOT 5T I bl &

(A) 3IMfEBR BT (B) SReIRd &1
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(C)  STaTSEr o (D) T A BIS T
Delegation can be done
(A) Authority (B) Responsibility

(C) Accountability (D) None of these

25. /1 o 1 Rgfaasor &1 d@ dI—w1 27
(A) (B) =
(C) . Hfreror (D) SR af

Which of the following is the element of staffing?

(A) Recruitment (B) Selection

(C) Training (D) All of above
26.FRgfaaeRor # Far Wi T8 57

(A) =Iq (B)  uf3reqor

(C) Frewm (D) weI=IRY

What is not included in the staffing?

(A) Selection (B) Training
(C) Directing (D) Promotion

27. T fhar g
(A)  wfaaia faumT @ (B) - Seures fawm @1
(C)  fauorT faumT (D) facir fawmT @

Staffing is an activity of:-

(A) Personnel Department (B) Production Department
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(C) Marketing Department
28. BT BRI 8-

(A) MY TR &ed B

(C) ¥ =R g &t

Staffing is a function of:-

(A) Top level management

(C) Lower level management

29. I BT B 8-
(A)  Cl HRAT
(C) ®R R FRgfaa &=

Function(s) of staffing is/are:-

(A) Recruitment
(C) Placement

30.FEeM & yq@ T B
(A) 2

© 4

The main elements of direction are—

(A) 2

© 4

(B)
(D)

(B)
(D)

(B)

(D) Financial Department

(B) H=gH WX U€9e Bl

(D) WRBR BT

Middle level management

Government

UfRMeTOT USTH HeAT

T8 O 99 B qE BT

Training

(D) Perform all of these functions

B) 3
(D) 6
(B) 3
(D) 6

31.f=faRaa & 9 Ge9EmEgT deud BT SQTeRYl hia—3T 27

(A) foRea

(B) HiRa®
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(C) foafReaa iR #Aifg® (D) <hfawH
Which of the following is an example of Communication media?
(A) Written (B) Oral

(C)  Written and Oral (D) Television

32 . f=forlRag & W GegEAEd &1 bR hia—ar 27

(A) SR (B) AI9=R®
(C) (A)Td (B) =Ml (D) T A P 7RI

Which of the following is the type of communication?

(A) Formal (B)  Informal

(C) Both (A) and (B) (D) None of these
33.fce B

(A)  frard (B) 3mawud

(C) IFEaTD (D) I DI q9ia]

Direction is:-

(A) Compulsory (B) Necessary

(C) Unnecessary (D) Wastage of time
34.2eR g oy # &1 @ goilfraR a7

(A) 1878 (B) 1884

() 1901 (D) 1903

In which year did Taylor become an Engineer from a worker?

(A) 1878 (B) 1884
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(C) 1901 (D) 1903

35. 95719 UdeF ® Fiid DI AT reug_ gl fhar Sidr 27
(A) TIfa = (B) <™ 3rgaH
(C) 9HI Jeggd (D) P IFeTIT

Which study is not done under the scientific management?

(A) Motion Study (B) Profit Study
(C) Time Study (D) Fatigue Study
36. WaT@TeT & HEAH Bl ARVl oi—
(A) uA (B) el
(C) ¥ (D) T & &

Example of the medium of communication is:-

(A) Letter (B) Telephone
(C)  E-mail (D)  All of these
37.fFFAfaRIT # I BIF—AT FAR hdTe b o7
(A)  siraTRe (B) U9aTE
(C) fofea (D) T I W

Which of the following Communications spreads rumours?

(A) Formal (B) Grapevine

(C)  Written (D)  All of these
38.f T @ uefa fha TeR @ 77

(A) 9HPRIHSD Ugc] (B) TTORIHSD Ugc]
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(C) (AR (B) g1 (D) T A PIS T
What type of nature the control has?

(A) Positive Approach (B) Negative Approach
(C) Both (A) and (B) (D) None of these

39.f=0T Use BT BRI B

(A) YoM (B) sifcH
(€) T (D) fg<ia
Control is the function of management:-
(A)  First (B) Last
(C) Third (D)  Second
40.FRIA0T SATIRID -
(A) oY SUHH B foly (B) wegH ool Sumd & forg

(C) 9 MR dlcl SUHH & ferg  (C) 39 91 & forg

Controlling 1s necessary: -

(A) For a small enterprises (B) For medium sized enterprises
(C) For large sized enterprises (D) For all of these

41. fE=v Yo &7 Uge] B
(A)  Hifte (B) WHRI®
(©) Jeifis (D) IS

Controlling 1s the aspect of Management.
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(A) Physical (B) Mental
(C)  Theoretical (D) Practical
42, A BT PHARY BRI B—
(A) f (B) TUHER
(C) W= (D) T A PIS &
By employees Control is :-
(A) Opposed (B) Like
(C)  Support (D) None of these
43, U@ S P A HRAT BRI 5
(A) ST <G (B) I <w
(C) 3T 3R A1 &5 41 e <@
(D) T XA PIg
Controlling function of an organisation is
(A) Forward Looking (B) Backward Looking
(C)  Forward as well as backward Looking
(D) None of these
44 fa erawen fofa & @ gwifaq g 2°?
(A) 3 BT IR Jd (B) USH & ANTd
(C) (A) 3R (B) <l (D) T A PIS T
What is influenced by the financing decision ?

(A) Market price of shares (B) Cost of Capital
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(C)  Both (A) and (B) (D)
45 f=rfaRaa & o faxig ol SF—1 27

(A) fafarr faoig (B)

(C) e fof (D)

Which of the following is a financial decision?

None of these

foT gaxer Aol
ORI |

(A) Investment decision (B) Financial management decision

(C) Dividend decision (D) All of the above

46. T YSit § @1 eiie 81 fear Smar 2?2

(A) AT 3fer Yo (B)
(C) yaiferer afr o (D)
Which is not included in the Owner’s is capital?
(A) Equity share capital (B)
(C) Preference share capital (D)

47 ErdhTel= DY § R IR T8] 27

(A) AT 3= (B)
(C) aifreR s (D)
Which is not included in long term fund?

(A) Equity share (B)
(C) Preference share (D)

SrERTelE FET
ufeemRa o

Long term debt

Retained earnings

E I‘g

[aN

ABREIRIREEAY

Dividend

Long term loan

48. U WY Yoil drell bul & oy orwier b1 Yirer ®

(A) e (B)

Srfard
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(C) 3mEwadH (D) ST 9 P T8l
For a joint stock company, payment of dividend is
(A) Voluntary (B) Compulsory

(C) Necessary (D) None of these

49.HUN & Hed W fhAdT g TedT &7
(A) ol @ (B) afeli @ AR q
(C) - (A)SIR (B) &I (D) T A BIg TE
What does affect the value of Company?
(A) Capital Cost (B) Market price of shares
(C) Both (A) and (B) (D) None of these

50. =], AUl 7 aREUREAT 8idt & o7 Tepal | aRdfea fbar Sirar &
(A) B HEM & N (B) T®H a4 & 3=
(C) TH A dH & 9= (D) 99 9 U@ a¥ & §d
Current assets are those assets which are converted into cash:-
(A) Within six months (B)  Within one year

(C) Between one to three years (D) Between three to five years

51. fag &1 9e9 |¥aT 9id o—
(A) FOUA (B) |HdT 39 Yoit

(C) YaIePR 3fer (D) wfqenRd &m™
The cheapest source of finance is:

(A) Debenture (B) Equity share Capital
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(C) Preference Share (D) Retained earnings

52. BRI ol @ 9t srawasd gl 27

(A)  9H P A B forg (B) 9T %I B B forq

(C) <fe =&l & YaE & forg (D) R % & & folg

Why is working capital required?

(A) To purchase land (B) To purchase building

(C) To make payment for (D) To purchase machine

routine-expenses

53.fr=falRaa # & o =@1e] uREuRml # wfie 72 87

(%]

(A) P (B) ¥I®

(C) T\ ER (D) et faferamT

Which of the following is not included in current assets?

(A) Cash (B)  Stock

(C) Debtor (D) Long term investment

54, f= fafarr fAorat &1 aRads &1 & wfeArs sl 27

(A) T gol Ao (B) @RS Yot i
(C) (A)3iR (B) aHI (D) ST & PI5 TE

Which investment decisions are difficult to be charged ?

(A) Fixed Capital decision (B)  Working Capital decision

(C) Both (A) and (B) (D) None of these

55.fF9 PR & Gied | 3rad |uial § e snavae 27
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(A) @MUR (B) fafwHior

(C) (A) 3R (B) g (D) T A PIS T

In which type of organisation investment in fixed assets is essential?

(A) Trading (B) Manufacturing

(C) Both (A) and (B) (D) None of these
56.faqgae &1 T 3T BT T ?

(A) fxIT aoIR (B) faxia SRy

(C) o=t ufcryferat (D) SWRIFd G

Which is the major part of financial system?

(A) Financial market (B) Financial institutions
(C) Financial securities (D) All of the above
57.FrfaRaa 5 9 o O aReuRml § fea afafod fear smar 2?

(A) 39T (B) ®UUH

(€) oo faa (D) SR af
Which of the following is included in the financial assets?

(A) Share (B) Debenture

(C) Treasury Bill (D) All of the above

58.frfolRad # & & I HUA g o S0 H mar 272

(A) oo fia (B) aforias ux
(C) ST JHIOTH (D) g fda

Which of the following falls in the category of Zero Coupon Bond?
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(A) Treasury Bill (B)

(C) Certificate of Deposit (D)
59. 99 fahaT Ul W renRd 87?

(A) 30 (B)

(©) 100 (D)

Sensex is based on how many companies ?

(A) 30 (B)

(C) 100 D)

60.9sT dTSTR H Ra8R BRAl 5
(A) Ircuraf dIy H (B)
(C) <Eaf iy H (D)
Money market deals in:-
(A)  Short-term funds (B)

(C) Long-term funds (D)

61.4ST 9GIR H FI8R Rl 5——
(A) SrAER Py H (B)
(C) <rdfafr oy H (D)
Capital market deals in:-
(A)  Short-term funds (B)
(C) Long-term funds (D)

62. 941 BT IO gg oAl—

Commercial Paper

Commercial Bill

50

500

50

500

AT By |
STH 4 BIg T8

Medium-term funds

None of these

AT By |
$TH & BIg T8

Medium-term funds

None of these
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(A) 1988 # (B) 1990 #
(C) 1992 # (D) 1994 #
The SEBI was Established in:-
(A) 1988 (B) 1990
(C) 1992 (D) 1994
63.%p faufor fod &1 Fref Hel &—
(A fraers (B) @u
(€) WPR (D) T ¥ FIS Te

Stock exchange protects the interest of:

(A) Investors (B) Company
(C) Government (D) None of these
64 .9 BT &I BT B
(A) feoed # (B) Hax
(C) dicAdrar | (D) =5 #
Head office of SEBI is in :-
(A) Delhi (B) Mumbai
(C) Kolkata (D) Chennai

65.%hY faufor & forg Hat &1 |ad —
(A) vfed (B) SMaWH
(C)  3rIawadh & (D) a1fard

For Stock Exchanges, the services of SEBI are:-
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(A) Optional (B) Necessary

(C)  Unnecessary (D) Compulsory
66.fFFfRaT % I B fauo BT BRI BIH—AT 27?

(A) Wag (B) e faawer

(C) uRae+ (D) SR I

Which of the following is the function of marketing ?
(A) Promotion (B) Physical Distribution
(C) Transport (D) All the above

67.F=falRaa & 9 B9 fehrs IdTe HT ISTENT 27

(A)  WreR (B) Hd

(C©) Al (D) iR o Ready

Which of the following is the example of a durable product?

(A) Furniture (B) Salt

(C) Candle (D) Match-box
68.f=feiRad § ¥ fauor fAsror &1 a Hi—1 27?

(A) S (B) TI

(C) <ag+ (D) SWia a4l

Which of the following is a factor of marketing mix?

(A) Product (B) Price

(C) Promotion (D) All the above

69. o0 = ¥ I fhddT Sarexo 87
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(A)  STHOROT (B) ¥Is
(C) drs M (D) s |@P

Which of the following is the example of Dunlop?

(A) Branding (B) Brand
(C)  Brand Name (D) Brand Mark
70.f=I_ AET S g
(A) oMUy (B) fafr=mT
(C) faerfRyar (D) =T A PIg &I

Advertisement is regarded as :-
(A) Wastage (B) Investment

(C) Luxury (D) None of these

71.fF=foRag & 9 Rrerad &1 MR HH—<ar 87

(A) <IVgE IRN (B)  wawil H &HI

(C) P PHd gt (D) SWRIad a4

Which of the following is a basis for a complaint?

(A) Defective goods (B) Deficiency in Services

(C) Charging more price (D) All the above

72 fe=forRag & @ oI Rrerad ot T8l B Fhar 27

(A) UH STHII (B) SuHIgar |9 T
H=IAT Fel <1 TS ©
(C) BT ARBR (D) TR TWER
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Who of the following cannot file a complaint?
(A) A Consumer (B) Consumer association

that has not been

recognised

(C)  Central government (D) State government.
73.3AAr & GROMH S T HET Sl 27

(A) SE (B) S

(C)  uwA (D) g 9 IefHar

What is the outcome of entrepreneurship called?

(A) Entrepreneur (B) Entrepreneurship
(C)  Enterprise (D) Entrepreneur and
Entrepreneurship
743l 91 4 9 fBAd {7 IWHTR & 3R IuTe Bl &7
(A) S B o (B) 3myfcaater & forg
(C) IR 7eRell & forg (D) SWRIgd 941 & fory

For whom does Entrepreneurship provide employment opportunities?
(A) For entrepreneur (B) For suppliers

(C)  For middlemen (D) For All of the above

75. 99 2004 H YRT H b TRFDol B ] oft—
(A) 20 (B) 21

(C) 23 (D) 24
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The number of stock exchanges in India in the year 2004 was:

(A) 20 (B)

(€) 23 (D)

76.f57T AT fAaret &1 AUSRT &R Ahdl -

(A) R 25 II”g db (B)

(C) X 75 9@ b (D)

District Commission can settle disputes:-

(A) uptoX25Ilakh (B)

(C) uptoX75]lakh (D)

77.Sudredr faarel & fF9eR @1 reaReT 99 gi—

(A) TH—xN
(C) fg—=Ria

(B)
(D)

21

24

% 50 g dodh

31 RIS b

up to T 50 lakh

up to X1 crore

[ERSRIR]
T | BIg TE

The mechanism for settlement of consumer disputes is:-

(A)  One-tier
(C) Two-tier
78. W& T —
(A) ATIIDH
(C) afard
Labelling is :-
(A) Necessary

(C) Compulsory

(B)
(D)

(B)
(D)

(B)
(D)

Three-tier

None of these

vfeed
& BT g9

Voluntary

Wastage of money
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79. 9T Hdcd e T8l BRel—

(A) VTR BH (B) a1 fm favrer=

(C) 9419 3raT™ IeM (D) SWRIGd ¥ A BIs el
Entrepreneurship fails to lead:-
(A) Partnership firm (B) New corporate division

(C) New subsidiary venture (D) None of the above

80.fF=ferRag & & 9 Saffdr @ favwdr a8t 87

(A) <IReH o (B) MR
(C) gorrH® fopan (D) YsEdIg T

Which of the following is not a characteristic of entrepreneurship ?

(A) Risk taking (B) Innovation
(C) Creative activity (D) Managerial training
81 MR Iaffar faem v Rerd 8-
(A) STEFITETS (B) Ha%
(C) 8 feeed (D) u~Tg

Entrepreneurial Development Institutes of India is situated in:-

(A) Ahmedabad (B) Mumbai
(C) New Delhi (D) Chennai
82.Uh S T—
(A) o ol @ (B)  §9RIT SiraT &
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(C) ¥ oIdT & Ud a+ram (D) 37 9 dIs 8l
ST ®, ]l

An entrepreneur is:-

(A) Born (B) Made

(C)  Born and made both (D) None of these
83. ST FREAVT A, 1986 & ST SUAIGT B ARTHR T

(A) 6 B) 7

(C©) 38 (D) 9

Consumer rights under Consumer Protection Act 1986 are: -

(A) 6 (B) 7

© 38 (D) 9
84. IUFTET DR fXad hd HARIT ST &7

(A) 15 Ard (B) 15 Wi

(C) 15 Jerig (D) 15 S

When Consumer Rights Day is celebrated?

(A) 15" March (B) 15 April

(C) 15 July (D) 15" January
85.faqors # =nfrer grar 2

(A) @3 (B) fama

(C) ¥USRY (D) SWRIad a4

Marketing includes:
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(A) Purchase (B) Sales
(C) Warehousing (D) All of the above

86.f=ferRag # & @19 A1 IUIe T8 27

(A) HTEl AT (B) XflhoRex
(C) R et (D)

Which of the following is not a product?

(A) Raw Materials (B) Refrigerator
(C) OlId statues (D) Shoes

87. axoIdl T fHioT Sar

(A) SISA TR (B) 3rEfed IoiR

(C) wWIH® IR (D) fgdigs amiR

Creates Liquidity:

(A) Organised Market (B)  Unorganised Market

(C)  Primary Market (D)  Secondary market
88.fi=ror forar 32—

(A) #H=M (B) &=

(C) T (D) T A BIS TE

Control activity is:-

(A) Costly (B) Cheap
(C) Uneconomic (D) None of these
89.798H BT o—
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(93

(A) 9

(C) =

The Manager is:-

(A) Boss

(C) Leader
90.TRIdeT0T Td B—

(A) TG @

(C) frdem @1

Supervision is an element of:-

(A) Leadership

(C) Direction

913 T3 & Sigd | 9dT gl a—

(A) PR=R

(C) TP SR

Recruitment in the life of organisation is:-

(A)  Continuous

(C)  Once

92 HHARAT & fAbrg & e g—

(A) IR0

(C) uf3rero

Development of employees involve:-

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

T
T A BIS T

Owner

None of these

IRRISERC
T | BIE TR

Planning

None of these

HH—HH]
gl IR

Occasionally

Twice

ER ARl
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(A) Transfer (B) Promotion

(C) Training (D)  All of these
93.uif¥eror @ faferRlt g

(A)  F=ET (B) @I

(C)  ufdreromeft ufdreror (D) SWRIad a4

Methods of Training are:-
(A) Conference (B) Lectures
(C) Apprentice training (D) All of the above
94. JABR RN &I BT ST Febell &:—
(A) &R B (B) SRR @
(C) SiaTEca! &l (D) (B) 3R (C)Hl @r

Delegation cannot be done of:-

(A)  Authority (B)  Responsibility

(C)  Accountability (D) Both (B) and (C)
95.f=S BT B—

(A) a9 B forw (B) wfosr & forg

(C) Wd & forg (D) ¥ 9 & forg

Planning is for:-
(A) Present (B) Future

(C) Past (D) Al these

96. “fRATST 9fA® BT Ybe & forw g=mar 71 fUoRT 217 I8 HUH g—
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(A) AT (B) &

(C) Ter (D) <A

“ A Plan is a trap to Capture the future.” This statement is of:-

(A) Newman (B) Harley

(C) Allen (D) Terry
97. <A & AR, RIS & IPR T—

(A) 8 B) 6

© 4 (D) 2

According to Terry, the types of Planning are:

(A) 38 (B) 6

(€ 4 (D) 2

98. ATHISTD ITATaRYT T SETET o—

(A) TRAR @1 =TT (B) SUdIaar xeor srffras
(©) FHem (D) 3w

Example of Social Environment is :-

(A) Composition of family (B) Consumer Protection Act

(B) Employee (C) Economic Development

9931 WA BT STH AT o
(A) Tl ¥ (B) wid #
(C) o (D) $TH ¥ PIg el

Henri Fayol was born in:
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(A) Turkey (B) France

(C) Germany (D) None of these
100. YRR W g far T 99 5

(A) SMITH (B) 9afdl

(©) fafm (D) & & Prg T

Money spent on staffing is:-

(A) Necessary (B) Wastage

(C) Investment (D) None of these

gvs—9 / SECTION-B

oy SRig 929/ Short Answer Type Questions

o7 GE&IT 1 & 30 GF 7Y FAINT & | §7H § [F7E] 15 Fo P GV 7 | FAP

57 @& [org 2 i [FERT &/ 15x2 =30
Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions. Each
question carries 2 marks. 15x2 =30
1. J€g & <1 #e<dqul b ford | 2
Write two important functions of management.
2. RIS @ |1 faRivdret ol W B | 2
Explain the two characteristics of Planning.
3. PR I a1 aedd 27 2
What is meant by authority?
4. FIGfITHRT & BIg QT =R BT AM AR | 2
Name of any two steps of staffing.
5. AR & i a& fa=yan] ford | 2

Write any two Characteristics of motivation.
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6. WouETEd &I fb=sl & arenei bl qar |
State any two barriers to Communication.
7. FTdacen TR &1 9 ST Bl &7
What is the objective of Job rotation training?
8. "9 O ofd &" g9 FEl O 8¢ U8 b fhad ©
Who said “Leaders are born, not made?
9. ¥ & Yof ®U AT 77
What is the full form of SEBI?
10.95T 99IR | @1 dread 27

What is the meaning of Money market?
117707 GIGIR @ bl &1 faRIvan adrd |

State any two features of secondary market.

12,5969 &1 gRYIRd ST |

Define Organisation.

13.9= W & Jd= & fosl I BT Bl 9dr |

State any two functions of Top level management.
14.fSTra=or 1 27?
What is Privatisation?
15.3af¥ar @1 87
What is entrepreneurship?
16.<11%p 37aTeTd a1 87
What is Lok Adalat?
17.3%1 &g JIoir 1 27
What is Eco Mark Scheme?
18.famu= &1 a1ef aar |

State the meaning of advertising.
199108 3R TSATSG | Dl &l 3R Idr |

State any two differences between brand and trademark.
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20.QqvE & BIS < ST ford | 2

Write any two objective of marketing.

21.fauor 3R fasha # ®Ig &1 R I | 2
State any two difference between marketing and selling.

2291 &R T 87 2
What is Repo rate?

23.0TCEI &T gVl ®U &RIT & ? 2
What 1s the full form of OTCEI ?

24.35 BRI USi &1 ITOMT BT G AT &7 2

What is the formula of calculating Net Working Capital?
25. BRI Yol bl g41fad H1 arel fdh=si &1 °gcdl & A 9ar | 2

Name any two factors affecting Working Capital.

26.95f AT MY FIT FHENT 22 2
What do you understand by Capital Structure?

27916701 & gl 1 TNl & A g | 2
Name any two methods of training.

28.9cil & PIg &1 IAARD AT I | 2

State any two internal sources of recruitment.

29. 999 3T T 57 2
What is time study?

30.fa=i RIS 9 39 T |He &7 2
What do you mean by financial planning?

<" STRII UST /Long Answer Type Questions
&7 e 31 W 38 Jd GOT H57 & | §7H W 1dE] 4 ¥ @ FA G |

T% F57 @ 1077 4 3% [F5Ra &/ 4x5=20

Question Nos. 31 to 38 are Long Answer Type. Answer any 4 questions. Each
question carries 5 marks. 4x5=20
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31.YSH 96IR 3R gaT a6k H <R DITOTY | 5

Differentiate between Capital market and Money market.

32. @R ol Bl JHIfad dH_- dTel BRI BT quis DI | 5
Describe factors affecting Working Capital.

33.3enRe Ud IMIUAIRE AR H 3R W BTy | 5
Differentiate between Formal and Informal Communication.

34997 @] PR faRivdrsii &1 quig HIT | 5

Explain the main features of management.

35.Udh SYHIHT & BIs Urd STIRGIAT! bl gui HIFU | 5

Explain any five responsibilities of a Consumer.
36.9<1 T 3fef &1 B2 i & el A9 drel WAl bl ARAT PR | 5

What is meant by Recruitment? Explain any three external sources of

recruitment.

3791001 P {2l AR AaTIBATs] Bl AT P | 5
Explain any four needs of training.

38 @I faRiyarell & 9dr | 5

State the Characteristics of Planning.
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